MATZ257 Analysis Il on November 30, 2020: Integration NT. %

Read Along: Spivak 63-66 and 66-74. HW9 deadline extended to Friday! \/ _ )__) \/ /
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MATZ257 Analysis Il on December 2, 2020: Integration NT, @9:50: changes of variable. , —

Read Along: Spivak 63-66 and 66-74. Comment on Solution Sets! \/ — / N
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MATZ257 Analysis Il on December 4, 2020: Changes of variable, Gaussian integration, volumes of spheres and balls.

Read Along: Spivak 66-74.
-~ Riddle Along: Compute lim_{n\to\infty}Vol(B_n)/Vol(C_n), where B_n is the largest ball bounded by 2n balls of radius ones with
centers at {-1,1}*n and C_n is the smallest cubes bounding same balls. Promise: You will learn something very surprising if you

~solve this riddle.

Grnplllcsncv[{
o Graphlcl[{ﬁranqa, Disk /& Tuples[{1, -1}, 2], Blue, mn[m, 0}, V2 -1]}. Frame -> 'rrue].
GluphlclBD[{Orang‘e, Ball /e Tuples({1, -1}, 3], Blue, nan[{a, o, 0}, V3 -1]}]
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